

## SITE WEIGH-OFF INFORMATION

**CANADIAN AND INTERNATIONAL** 

**BARRIE, ONTARIO Name: The Cornerstone Landscaping Early Anything** 

**Giant Pumpkin Weigh-off** 

Location: Exit #85, Hwy# 400 at 10<sup>th</sup> line Innisfil

**South of Barrie** 

Weigh Date: Sept 16<sup>th</sup>,2006 at 12:00 pm

Unloading: 9:00 am to 12:00 pm

Entry Fee: \$25.00 per pumpkin or \$35.00 with GVGO

Renewal

Prizes: 1<sup>st</sup> \$1,000, 2<sup>nd</sup> \$500.00 with draws and consolation

Prizes (No Colour Rules- Largest Pumpkin or

Squash)

Contact: Russ Landry <u>russlandry@rogers.com</u>

Phone: 1-705-458-1533

COLOGNE, ITALY Name: Festa Della Zucca Di Sale

**Location: Sale Marasino Brescia, Italy** 

Weigh Date: Sept 10<sup>th</sup> rain or shine at 2:00 pm

Unloading: 8:00 am to 1:00 pm Entry Fee: 10 euro per pumpkin

Prizes: 1<sup>st</sup> 1000 euros, 2<sup>nd</sup> 500 euros, 3<sup>rd</sup> 250 euros Contact: Sergio Moretti Sergio.moretti@libero.it

Phone: 1-339-336-0576

GRANARD, IRELAND Name: Granard Pumpkin Growers Assoc.

**Location: Carragh, Granard County Longford** 

Weigh Date: October 8<sup>th</sup> at 3:00 pm

Unloading: Noon to 3:00 pm

**Prizes:** 1<sup>st</sup> 1000 euros, 2<sup>nd</sup> 250 euros, 3<sup>rd</sup> 125 euros

Contact: Eddie Molloy kimoanoy@iol.ie

Phone: 1-0035-386-887-5012

KOPINGSVIK, SWEDEN Name: Solberga Gard Giant Pumpkin Weigh-off

**Location: Kopingsvik Weigh Date: Sept 30th** 

Unloading: 10:00 AM to 3:00 PM

**Fees:** 

Prizes: 1st SEK 20 per KG of pumpkin, 2nd SEK 10 per

KG of pumpkin, 3<sup>rd</sup> SEK 5 per KG of pumpkin

(SEK 100 equals \$13.50)

Contact: Gunnar Kvarnback gk@solbergagard.se

Phone: 00-464-857-2646

NIAGARA, ONTARIO Name: Howell Family Pumpkin Farm

**Giant Pumpkin Weigh-off** 

Location: 2878 Holland Rd., Fonthill, Ontario

THIS WEIGH-OFF IS ON HOLD FOR 2006

**Contact: Jerry Howell** 

farmerjerry@ahowlinggoodtime.com

Phone: 1-905-892-3918

PEMBROKE, ONTARIO Name: Hugli's Blueberry Ranch Weigh-off

Location: 2139 Greenwood Rd., Pembroke, Ont. Weigh Date: Sept 30<sup>th</sup>,2006 Time: 11:30 AM

**Registration:** Unloading:

Entry Fee: \$20/\$25 Prizes: See below

Contact: Glen Cheam <a href="mailto:gcheam@sears.ca">gcheam@sears.ca</a>

Phone: 1-613-831-4633



# Great Pumpkin Commonwealth (GPC) Sanctioned Giant Pumpkin Weigh-off for Eastern Ontario and Quebec at Hugli's Blueberry Ranch in Pembroke Saturday September 30<sup>th</sup>, 2006 11:30am

Come see some of the largest Pumpkins and Vegetables in the World!

#### **WEIGH-OFF CATEGORIES**

#### 1. Atlantic Giant Pumpkins

Hugli's Blueberry Ranch Site Prizes:  $1^{st}$  \$1,000.00,  $2^{nd}$  \$500.00,  $3^{rd}$  \$250.00,  $4^{th}$  \$100.00,  $5^{th}$  \$ 50.00

Pumpkins weighing 700 lb. or more (excluding the 1<sup>st</sup>, 2<sup>nd</sup>, and 3<sup>rd</sup> place winners) will be entered into a draw for \$100.00

The largest Pumpkin grown in Renfrew County \$100.00

\$20 / Pumpkin before September 15<sup>th</sup> (includes farm admission and t-shirt) \$25 / Pumpkin after September 15<sup>th</sup> (includes farm admission and t-shirt)

#### 2. Pumpkins (Not Atlantic Giants)

Hugli's Blueberry Ranch Site Prizes:  $1^{st}$  \$100.00,  $2^{nd}$  \$50.00,  $3^{rd}$  \$25.00,  $4^{th} \rightarrow$  Will be entered in draws

Entry Fee: \$10 / Pumpkin (includes Hugli's Blueberry Ranch Admission)

#### 3. Giant Squash

Hugli's Blueberry Ranch Site Prizes: 1<sup>st</sup> \$ 250.00, 2<sup>nd</sup> \$ 125.00, 3<sup>rd</sup> \$ 75.00 (also eligible for GPC Prizes listed below)

Entry Fee: \$ 10.00 / Squash

PORT ELGIN, ONTARIO Name: Port Elgin Pumpkinfest

**Location: Port Elgin Pumpkinfest Site** 

Weigh Date: Sat. October 7<sup>th</sup>, 2006 International Sun. October 8<sup>th</sup>, 2006 Tri-County

**Unloading: 9:00 am to Noon with registration** 

Until noon

**Entry Fee: \$30.00** 

Prizes: Pumpkin 1<sup>st</sup> \$5,000., 2<sup>nd</sup> \$1,500., 3<sup>rd</sup> \$1000.,

4<sup>th</sup> \$500.00, 5<sup>th</sup> \$300.00, 6<sup>th</sup> \$250.00, 7<sup>th</sup> \$200.00, 8<sup>th</sup> \$175.00, 9<sup>th</sup> \$150.00,

10<sup>th</sup> \$125.00, 11<sup>th</sup> \$100.00,12<sup>th</sup> \$75.00 13<sup>th</sup> \$\$50.00, 14<sup>th</sup> \$40.00, 15th \$30.00

16<sup>th</sup> thru 30<sup>th</sup> \$20.00each + ribbon

Plus BONUS draws of 2 draws

amongst growers who exhibit

1000 lb. + pumpkins for \$1000. each

(One per household and excludes

First place winner)

Plus Closest to the Hidden Weight

Prize of a Troy-Bilt Roto Tiller

Squash 1<sup>st</sup> \$2,000., 2<sup>nd</sup> \$500.00, 3<sup>rd</sup> \$400.00 4<sup>th</sup> \$250.00, 5<sup>th</sup> \$200.00 plus \$500.00

if a World Record

Plus 8 other Giant Vegetable Categories with the Feature vegetable being Cabbage with 1st \$500.

Contact Lisa Irwin lisairwin@saugeenshores.ca Phone: 1-800-387-3456



# umpkinfest 2006 Prize Structure



# Port Eigin Pumpkinfast International Waigh Off Saturday, October 7, 2006

Pun	npkin
1st	\$5,000
2nd	\$1,500
3rd	\$1,000
4th	\$500
5th	\$300
6th 7th	\$250
7th	\$200
8th	\$175
9th	\$150
10th	\$125
11th	\$100
12th	\$75
13th	\$50
14th	\$40
15th	\$30
16th	\$20
*	each
30th	+ ribbon
mbur 2 80	MITE DOMNE AFER AND



	Sq	uash
k.	1st	\$2,000
ı	2nd	\$500
	3rd	\$400
*	4th	\$250
-	5th	\$200

Registration Fee on
Saturday is \$30
no matter how many
classes entered!

plus \$500 If a World Record?				
Wate	rm elon			
1st	\$500			
2nd	\$300			
3rd	\$250			
4th	\$200			
5th	\$150			

G.	urd
1st	\$100
2nd	\$75
3rd	\$50

	has 2 BONUS DRAWS of \$1,000 ea. for
	1000+ lb. pumpkins weighed ini
	"you must be in attendance to win
'1st	place winner is excluded from this draw.
	only 1 bonus winner per household.

1st	\$100
2nd	\$75
3rd	\$50



1	4
1st	\$500
2nd	\$200
3rd	\$100
4th	\$75
5th	\$50

2005 F. . tur.

The "feature	" vogotabio wili
change	each weer
A STREET, ST	Market Brown

	GPC
h	lembership
e	adds extra
	Prizes!

3rd	\$50
Том	ato
<u>1st</u>	\$100
2nd 3rd	\$75
3rd	\$50

2nd

\$100

Other	Η	e	n	v	ie	5	1
Management and an	\$10	00	ľ	107.11			

Other Longest \$100

the Hidden Weight (pumpsin) Troy-Bilt Roto Tiller

NOTE: Port Elgin Pumpkinfest will follow the 2006 GPC colour requirements for Pumpkin and Squash.
Completet rules at www.pumpkinfest.org

### Port Eigin Pumpkinfest Tri-County Waigh Off Sunday, October 8, 2006

Pum	pkin
1st	\$1,000
plus Ro	nto Tiller
2nd	\$500
2nd 3rd	\$300
4th	\$200
5th	\$100
Squ	ash
1st	\$250
2nd	\$150

3rd



melon
\$250
\$150
\$100

\$15 how many classes entered!

Go	urd
1st	\$100
2nd	\$50
3rd	\$35
Sunf	
1st	\$100
2nd	\$50
3rd	\$35



\$100

1et	\$100
2nd	\$50
3rd	\$35

ist	\$300
2nd	\$100
3rd	\$75
The "feature" change e	vegetable will ach year.

TO III	a co
1st	\$100
2nd	\$50
3rd	\$35

Corporate	
Pumpkin	
Challenge	
\$100	

Hidden	Weight
<u> (pumpkin)</u>	
Lazy Boy C	chair from
Littles Fu	ımiture

#### For the Kide! (sgs 13 and under)

nfower
\$100
\$50
\$35

Most Unusual or	
Weirdest	Vegetable
1st	\$100
2nd	\$50
3rd	\$35

Seed Donations for Growers Development would be greatly appriciated. Please contact Pumpkinfest Headquarters for more







ROLAND, MANITOBA Name: Roland Pumpkin Fair Weigh-off

Location: Roland Arena, Roland Manitoba

Weigh Date: Oct 7<sup>th</sup>, 2006 at 10:30 am

Unloading Time is 6:00 to 8:00 pm Oct 6<sup>th</sup>

8:00 to 10:30 am Oct 7th

Entry Fee is \$5.00 per pumpkin

Prizes: 1st \$1,000, 2nd \$500.00, 3rd \$250.00, 4th \$125.00

5<sup>th</sup> \$75.00, 6<sup>th</sup> thru 20<sup>th</sup> \$50.00 each, 21<sup>st</sup> and over Various consolation prizes

Contact: Jake Neufeld jakeneuf@mts.net

Phone: 1-204-343-2314

SMOKEY LAKE, ALBERTA Name: Great White North Pumpkin Fair

and Weigh-off

**Location: Agricultural Complex, Smokey Lake** 

Weigh Date: October 7<sup>th</sup>, 2006 at Noon Unloading Time: Oct 6<sup>th</sup> 5:00 to 8:00 pm

Oct 7<sup>th</sup> 9:00 am to Noon

**Entry Fee \$10.00 per category** 

Prizes: Pumpkin 1<sup>st</sup> \$1,200.00, 2<sup>nd</sup> \$600.00,

3<sup>rd</sup> \$300.00, 4<sup>th</sup> \$200.00,

5<sup>th</sup> \$175.00, 6<sup>th</sup> \$150.00,

7<sup>th</sup> to 10<sup>th</sup> \$100.00 each plus 8

Hidden Weights at \$100.00 each

Squash 1<sup>st</sup> \$600.00, 2<sup>nd</sup> \$300.00, 3<sup>rd</sup> \$175.00, 4<sup>th</sup>- 6<sup>th</sup> \$100.00 each

Plus Giant Watermelon with 1st \$300.00

Contact: Barry Wood kwood21@telusplanet.net

Phone: 1-780-636-2183

WINDSOR, NOVA SCOTIA Name: Windsor West Hants

**Location: Windsor Exhibition Grounds Weigh Date: Oct 7<sup>th</sup>,2006 Time: 10:00 AM** 

Registration: 8:00 AM to 9:45 AM

Unloading Time: 8:00 AM to 9:45 AM

**Entry Fee: \$15.00** 

Prizes: Heaviest Pumpkin \$1000.

2<sup>nd</sup> \$300. 3<sup>rd</sup> \$250.

Heaviest Squash \$300.

Contact: Danny Dill howarddill@yahoo.ca

Phone: 1-902-798-2728

WOODBRIDGE FAIR, ONTARIO Name: Woodbridge Fair International Giant Pumpkin Weigh-off

Location: Kipling Ave. Woodbridge North of

Hwy #7

Weigh Date: Mon October 9<sup>th</sup>,2006

Time: at 11:00 AM

Registration: Monday Oct 9th, 2006

Unloading Time: Can be delivered anytime Thursday Oct 5<sup>th</sup> or Friday Oct 6<sup>th</sup> and Monday Oct 9<sup>th</sup> between 9:00 AM and

11:00 AM

Entry Fee: \$20.00 per exhibitor

Prizes:  $1^{st}$  \$1,000.00,  $2^{nd}$  \$500.00,  $3^{rd}$  \$250.00

4<sup>th</sup> \$150.00, 5<sup>th</sup> \$100.00

Squash: 1<sup>st</sup> \$500.00, 2<sup>nd</sup> \$250.00.

3<sup>rd</sup> \$100.00

**Contact: Ken Maynard** 

Maynard.insurance@on.aibn.com

Phone: 1-905-265-1782